
���������������� �	
�
��
���������������������

������������������������������������ !"������#!�!�$"��%�����&��������&'��(!�!�&������$!�����&���%! �)!�(�"&"��%�����$���*�*+,(��-�!&��. ���

/0/1/2//334560/00718
9:;<=>?@<AB44/4804/

CDEDFGHIDJKLJKCMDJKNCODMEGM

DEFGDGPGJKQRDQJKCMELMFKLMKQJEFMISNTUJKLNKODJLDSMIFDLNLM

VNODEMGMKLNKWIMFDLXEQDN

YZ@[?4/\64/3]?̂_>̀>?abc]?b>;d_<e>?fg;AhAij=kjAl>?7?̂_>̀>?b?7?̂kA==>?@<j>=?@mg><ij<?7??̂=kin_Ak?7?bYo
1/p1/7\5/

q<_<r>h<B?sp4t?0/087u/446u/4\

flAi>]?p

Y;?/3?g<?;kA>?g<?0/002

NSDFJKLMKQJEFPvGNKMKNPLDXEQDNKWwOvDQNKExKyz{|{{

?

JKWIMFDLMEGMKLJKDEFGDGPGJKQRDQJKCMELMFKLMKQJEFMISNTUJKLN
ODJLDSMIFDLNLMK}KDQCO~�]?h>?mi>?gki?̀>;d<j�h̀Aki?kj=A�mngki?d<_>?k=jA�>?03?g>?�<̀=<j>?h�2?4/20\3]?g<?44
g<?r<l<=<A=>?g<?0/0/]?g<iA�hkg>?d<_k?o>=jk=Ak?bkik?bAlA_?h�?4208/]?g<?/u?g<?h>l<;�=>?g<?0/04]?dm�_Àkgk?h>
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